OASYS: Menu

Menu for Mr A Protogerellis (csugqw) on Mon Feb 28 19:44:00
2000
The Process...
® Yo can only take a test at the end of & lab session when supervised
® You should attempt to mark 3 other scripts before your next lab
® Full conrse credit will only be awarded by participation in both testing and viewing and grading

other penple’s work

“When three of your colleagues have marked your script, you will receive your marks and be able to browse
their comments and suggestions

The snccess of this resting approach is in your hands...
Tell me more shout SASYS

Omly one lah session remains - this is your only chance 1o cosch up on missed sessions (28th Feb)

The Menu
| Do atest labl lab2 1ab3 Labd.
| Mork a test {labl lah2 1ab3. labd.
| Revise marks el lab2. lab3 labd.
| See my marks ‘labl lab2 lab3 lsbd.
! Browse il marks {labl lab2 lab3  Laba
[Curvent systemn stits... Wsers 207, Scrptsfd (of which 5732 PLGQ  PMOGQ and fres answers) Free answer marks 42171
Comments?

Comments ghout this system are welcome: post to the newsgroup, wwarwick.des.course.cs126 or email

ashleywehfdes warwick acuk with less public issues
News

® 23rd Feh 10:07pm: I have mailed the people from the ahorred lab session on the 21 st {see below)
o suggest a soluton. If you are one of these people bur have not received 2 message, please
contact us ASAP. [ashley]

® 22nd Feb 8:38pm: 've fixed the problem with the "mark a test” allocation that I menton below.
Dermonstrators will shortly be starting work on marking scripts, so the marking shortfall should be
rezolved soon. Alse, just for the record: there were minor problems in the lab sessions earlier
today, caused by the temporary DUS web server outage. [ashley]

® 22nd Feb 1315pm: There are only two lab sessions remaining. Please conld you therefore make &

The main menu of OASYS (on-line assessment system)
highlights the available options for this learner. Unavailable
options can still be selected, and result in an explanation as to

why they are not a valid option at present.
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OASYS: Test
Test lab1 for Mr A Ward (cssbz) on Mon Feb 28 12:17:08 2000

2 i 5 e

Question 1:

Which of the following starements declare sninteger seray to hold 10 walues?

My answer:

EPt:nenti,alanswer

Inanewerad

int a = new int[10];

int[] & = mew int[10];

© linb[10] &

S L int asl0;

45 % aP @ ¢'|

E | 100% |

Page 1

The first question in the first test is a Multiple Choice Question

(MCQ). The background colour (which can easily be seen at a

distance by invigilators!) for this test is light blue and is used to
represent this test consistently throughout the system.
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|'| Back.  Forgard  Reload Home  Search  Metscape Print  Securty  Shop Stop

Question 2:
|'| . Bookmarks i Location: http: //topaz 4076/ test. php3#tap

/| @ what's Relaied

The nodes labelled on this binany wee are:

EM University Lookup Project Tecchie Fun Music PhD Jobs Work

[ 3 o 1 s 2 o o s o o
Question 7: Nl o @
Assumj.l_lg an inoxder traversal, which of the following is the correct diagram for a binary tree that represents the
SXPresSIon:
EONRG
My answer: Node 2
A MNodelisa
- E. MNode2is a
Potential answer
Rl R My answers:
- SN,
' /N
b o
+
7N,
e N
/N
b c —
c . K termal node aed parent of 3
- b/ N,
/N
. +
3
~ LN,
[ T ik % @R C3 N2

The question navigator is shown at the top — green buttons
represent answered questions, red unanswered, and a larger button
for the current question. The test need not be done in linear
sequence — this learner has only answered questions 1, 3 and 4.

Permutational Multiple Choice Questions (PMCQs) are another
question type. Potential answers are jumbled up “randomly”
(actually, not quite — this learner will always see this question this
way) so that answers cannot be copied from a nearby learner.
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Question 2: A

1. Given the class stack . jawva and

stack 5 = new stack();
5. pushi"I"y;
s pushiam®h;
s pushisan'y;
write dovn o single statement to display the state of 5.

2. How would you reverse the printed output wirkour changing stack. tostring() but altering the push () and
pop ¢y methods?

(You cen read more about Stacks and Guenes here).

My answer:

£ 1. a single statement to print the state of 5

Spstem. out. println(s);

/f 2. give a wap to reverse the printed output
/f (leck at what SinglyLickedList methods you conld equivalently
/f  use to implement push{) wmd pop(i)

Erc.. ]

Subinit answerl Resetto ariginal |

i we e @R \&‘|

T |
Entirely free response answers are a major feature of OASYS -
free responses are marked by other learners. Also note here the

use of HTML links to supporting material, and the use of images

in the question and potential answers on the previous page.
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OASYS: Test
Test lab2 for Mr A Ward (cssbz) on Mon Feb 28 19:24:13 2000
It looks like you've just chosen to finish the test.

If the testis stillin progress, I would recomrmend that you choose to continne checking yonr answers
below.

If the time is up, then you need to “hand in your scrpt”. Onee you have done this, you will not he able
to revise youwr answers.

‘ Continue doing the test... Hand in my scrpt

(A good opton if the testis sdllin
PrOgress)

(Y ou must choose this when the
e is up)

= | 0%

i i %0 P G N

Page 3

When the End Test button is been pressed, the learner is asked to
confirm their choice with this screen. After they do, the test is
“handed in” and the learner can proceed with marking.
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OASYS: Mark public stringvector{int capacity}

» Mar /F pre: capacityi=0

/f post: comstouct an empty vecbor of Stcings with size capacity
{

Mr A Ward (cssbz) is marking lab1 script on Mon Feb 28 Gl © ooy Sgleoasi,
12:31:29 2000 b

public int siae()

4
retum {numElements);
J J J J J J J @ E @ @ @ MI ;uhlin woid setElementAt{string s, int i

JF pre: .. .this is referred to in an anokher guestion. ..
77 post: replaces element at i with =

. if {(ir=0) & (1_<r\wv\zlemants))
Question 8 was: ) elenente[:] =
. . . : ubli id addEl t{stri
Gwdeln;he following (incornplete) class declaration for stringvector, complete the implementation of the. 1’;/ pjgt‘:”;pp;‘nd ei’;‘:ﬂné tﬁ”;ﬂdsﬁf weotor extending it if necessary
methods: ]
if (numElements==e lements. length)
1. size() {
2. cetBlementAt()

stcing oldElements[] = clements

3. addElement(} elements = new String[elements. length®2];

forint i=0; i¢oldElements. length; i++)
{

elements[i]=oldElements[i];
¥

Things to consider: b

elements [numElements] = s;

1. Cne line statement to complete the size () methodis: AUME Lementet+; /¢ keep track of wector size

return rumElements; ¥

2. Method setElementht requires the checking of the pre- conditon and access to the elements array member. '
The body could be a single if statement

it ({is= U)Se\sc(ms.lze())
elements[i] =

My marks:

3. This is the hardest of the three methods to complete. Some things to look out for in the answers are:
w if the capacity of the Vector has been reached then itneeds to be extended
® if the Vector is extended then all its elernents must be copied to the newly allocated array
® the new element roust be added to the end (at position somElements | Readability Broellent € C C C C poor (O wnarked)
® the nunElements counter must be incremented : :

Hereis a answers:

| Comermess Exeellent C @ C C C Poor (( vamarked)
if {numBlements==ospacity)
o - o i i
(el (e St e ooty (7 8 it T moetient € C C C C rove (C womssied
£emp{i] = elements{i];
SermlATe A e & & ! :
elements = temp; // this statement was missing - sorcy RB ; -
' . Excellent! I Like pour use of 'oldElements’: —=
nmji;’:;ﬁﬂ““’“ﬂa'“e“tsl == makes what pou are doing verp clear.
; s ) i Unfortunatelp, T think ((i=0) & (itnumElements))
j UZZESTUONS is incorrect: & is a bit-wise operater - in th.

case &5 is required]

Script to mark (1d: 200121, lab1): o -

FF £ill in the methods marked ". .. to be completed" —
public class stringvector ISubmlt ma:rksl |Resetto original
!

string[] elements;
int waomElements;

Learners are required to mark three scripts to gain full credit. The marking page shows the original question; advice on the correct use
of the mark scheme for this question; the answer to be marked (which was previously entered by another learner) and finally the
marking interface. Notice that answers to the multiple choice questions (in this test, questions 1-7) are automatically marked and so
cannot be selected in the question navigator — feedback on MCQ answers is given in the “see my marks” interface, described next.
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OASYS: See my marks

Marks for Mr A Protogerellis (csuqw), test lab1 on Mon Feb 28 19:45:06
2000

3 2030 [ 31 1 1 [ [ [ [ 2] [pmmm

Question 1 was:

Retum to menn

“Which of the following starernents declare an integer array to hold 10 values?

Answer:

Potental answer

Dharnswered

int a = new int[10];

int[] a = new ink[10];

int a=10;

int[10] s

Y our mark for this question:
1 out ofl

More informaton about marking calenlatons

Mext questionl

il % eR @ \4]

= 0% |

“See my marks” is where learners obtain feedback on their own
scripts, and can be viewed at any time from anywhere on the
Internet. Marking can also be done in learners’ own time. The

MCQ is “jumbled” the same way as the learner originally saw it.

“OASYS tour” Page 5

Node 2

® O

A Nodelisa
B Mode 2is a

Answer:

| Potential answex

internal node

Your mark for this question:
1 outofl

Wlore information shout marking caleulations

Next quesuunl

i % eR & \&'|

=] 00 |

PMCQs attempt to minimise the probability of a correct response

from a simple guess, and so the learner receives all the points
available (as set in a mark scheme) if they are correct in both
answers, and no points if either or both answers are incorrect.
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OASYS: See my marks
Marks for Mr P Shah (eswsj), test lab3 on Mon Feb 28 20:01:55 2000

] 21 [31 31|81 [s] [21 8] [ [10] [ 1] [ 2] ssmore

Retum to menul

Question 5 was:

What algorithm would you nse to decode a Morse code string nsing a hinary tree representation?

Things to consider were:

A decoding algorthm might look something like:

1. start from root: ptr = root;
2. 5oan Morse string frem left to right

if (5 ghazatiti==". ")
ptr getJ..eft()
sz

iE (s chazt(Dp=='-")
ptr = ptr getR:Lght()

print out ptr.getvalued;

Your answer was:

#f Give some Tavafpsendo-code for a Morse code desoding algorithm

for number of characters in word do
look at the characker in the string

if it is a . then traverse tree to left

if it is a - then trawerse tree to the right
shore t,ha result

end

ey e

corcespond it to a letber from the look up kable

You have been given these marks:

zscertent OO@OO0 reor (O wmsrren;

' Readebility

| Excellent QO@®O0 roer O wmarked)

Conecmess

Soae mocssens OO0 ro0x (O marice
;You don’t need to look mp the walue in a table
;Suggestiuns ;as they are alreadp given in the binarp tree
| Beatibly mxeessens OO®O0 so0x (O womee
— sxcetsene O®OO0 ress (O wmsrnety
e | ecetsene OO®O0 rese O wnsrnetys
Buggestions

Beaibliy mxcettent O®O00 s00r O womoriee
J— eetiens QOO0 ruve O wmseres
e eeiens QOO0 ruve O wmseres
Buggestions .

Your mark for this question:

2 ARBRBAGRAAANY out of 4

More information about marking calenlatons

HNext questionl

= |

T00%

A 95 5P @ 2|

Colours are used to provide cues throughout OASYS: here, colours are used to represent the anonymous markers of a script. The three
learners who performed this marking seem to have given similar opinions, and one has entered a feedback comment. The final mark
for the question is derived from the marks given, the maximum possible being set (by the administrator) in the mark scheme.

“OASYS tour”
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OASYS: See my marks

Marks for Mr P Shah (eswsj), test lab3 on Mon Feb 28
20:03:05 2000

3 o s ] [
‘Summarysheet| | Retum o e

Script mark summary table

Quesummnnher Yuurmark m"“sm
4 Py
s | 2.4909500000909 | 4
‘10 53.0666666666667 6
| Torais | 2202222022222 156

Your current overall mark for test lab3
61.2%
Ilore informetion about marking caleulations

Broken down by criteria:

Excellent O O O O O Poor { O unrnarked)

Readahility

Correctness

Bryle

The abowve table is intended to give you sore ides of any agreement between markers and how you rate
in each eriteria — the data in each row could be thought of as an vpeide- down bar chart. The morabers
are the question numbers. The colours represent the person who marked you. MCG mearks do not

appear.
Remim to rnanul

|

we i s e @ \l;|

All the marking information about a script is collated for the learner in the “summary sheet”. This particular learner has quite a good
overall result, but the overall spread of marks given by other learners (shown in the “break down table”) seems to be fairly wide,
despite the lack of variance in marking by the learner represented in mauve.

“OASYS tour”
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OASYS: Edit/Create Test Questlon L labd \] Briefly discuss whether a sorted list helps or hinders a linear search. free |3
Create New Question:-
TestMame: Lab3 o | Quesdon Type ;| Free o Creare... labd 7 How might a sortedList. add () method benefit from nsing a linked-list rather than a vector? free (2
Edit Existing Questions:-
lah4 8 i What dizadvantage would a linked-list be in implementing a binary-chop search? free 2
lsbd 9 What is the average number of comparisons required to perform a binary search on an ordered s 15
array o of keys? (Show how you calenlated this).
Given a stiing 3 of size £, what are the disedvertages of the following hash function?
i-1
lahd 10 2 free |5
hash(s) =3 sli]
=0
ining is nsed to resolve collisions in hash tables (when two different keys hash to the same
labd 11 ; hashtable index). Other than using the next available srray posidon (hucket), how else might free |3
chaining be implermented?
lah4 12§ Outline an algorithm for removing items from a hash table. free |5
] | | .1 |
= s i e eR @ 2| (] i %l eP @ 2

At the administration end, some common tasks, such as creating
and editing questions, are eased by the provision of a web based
interface. The stark red background here distinguishes the
example test, which is not seen by normal learners.

“OASYS tour”
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Questions can use mathematical symbols, but these must be
created as images as current web browsers do not support these
symbols directly.
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YRV TR TTR" M B Pope sy R SR S S T T e e e T il
e ¢ el e, Gl Qi ma o § (Strng) removeFmmHead();
12 | 20000228165542 © { hashindex = nextindex (hashindex) B
wameo LLions++} MrC¥ MLee i T think you forgot to cast the removeFromHead to a string type. otherwise it’s correct.

set key to null

MrCY MLee youe dequene() mthod was wrong. It should have removeFromHead().

## the disadvantage{s) of using a linked-list for binarp chop search
R binarp-chop search depends for its efficiency on having candom access

MrR T Cullen Part 1) super. not required
If pou had a linked-lizt of 1000 items, on the first iteration of the

8 20000228165531 | search noun’d need to get item 500. Thiz is easy with an arrap, but with
2 linked list pou’d be forced to follow the links from each item to the
next till eventually you reached item 500. Then you'd hawe ko step back
to 260 or forward to 750, and so on.

Mr A Fewkes i Use methods from super-class

MissKCLMann | Mot finished..

A4 the dizadvantage{s) of uring a linked-lizt for binacy chop search. Miss KC L Mann EXCELLENTIN

It is difficult to immediately choose the central object in a linked list

- pou need to have preknowledge of how many items are in the list (n)

8 20000228165529 | and then iterate through (n/2) items to get at the central {pivot) ehject.

This wonld, of coocse, hawe to be done for everp ‘chop’ in the binary seacch

- meaning that for a search on a list of length 'n’ pou have increased the
wumber of operations from log? fny bo log2{ni+n - mere than double, in mest cases.

Miss KC L Mann Puost condition for dequene is not quite right

It’s not necessary to uge SinglyLinkedList addToTail{s); becanse it’s a subclass of

WL TER SinglyLinkedList The condition if is not necessary either.

“ou've done a stack (firstin first out) . removeFromTail shovld be removeFromHead

:// Sortedlist. add{} would benefit from wsing a linked-list because... !
(in dequens)

7 | 2000022816552 | //the search iz carried out Linearly, so each item is linked to the next Wr A G Chaloner

=
47 SortedList add(} would henefit from nsing a linked-list hecanse M A G Chaloner deq!._laue sould have removeFromHead, nat Tail. it should also vse return: { retum
Tt would make it quicker to insert the item. Yeu'd just have to work out {String) removeFronHead(); } (you have inplemented & stack, not a queve)
which item would precede it, and then change pointers so as to
incorporate the new item inte the list. - - - - -
7 | 20000228185528 i " tor ol re with i have b engquene, addToTail takes o Bting, not a SinglyLinkedListElement. in dequene,
ereas the vector class works with arraps. It’d have to copy an w " o
entire chunk of the array to make room {or possibly reallocate the arrap also, if MW AG Chaloner super.” 15 not needed. also, "removeFromTeil(). gerValue()” is not possible in this
¢ allocated space was exhamsted). case. for the posteonditions, you need to specify which element iz addedfremoved,
whether the listis empty or not is irrelevant
44 does a sorked list help or hinder a linear search and wh 3 : o .
a sorted list helps a linear search as the similar elements or elements beginning Miss DG Mot too bad, you've got part one and o right, but the post- condiions aren’t that
with the same letter will be together so if pou are searching for a element 58 1ocan gnod
& 20000228165525 | begginning with ¢ it will be near the front of the list with the other ¢'s howewer
in"an wnsorted list the element pow want could be anpwhere in the list reguiring 3
possibly the whole 1ist to be searched. Miss DI Ciocan { You've done it basically nght, but the post- condition for enquene wasn’t quite there
Well, you did the first part correctly, but you didn’t even need a while loop for the
Miss DI Ciocan ¥ 2 E ¥, Y ?
= second part...§
- | Mir A M A Bowen i Dequene should be removeFromHead - not add to head
= | G mdp @ 2] |F] =2

Administrators can browse learners’ responses to questions... ... and also their feedback comments entered whilst marking.
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! 106 00000 i ]
‘2 [01 " 0.0000 i3 OASYS: Moderate Test Scripts
3 BT | 94,5945 i
PR e P ~—~~~~~
: : ; ; 000001 | Loadtest01 Teestot
s 110 | 66,3636 2 i : ;
; : : 000003 |  Tester03 [Ash] | ! test03 mark ;mk mark ;mk
s 110 {00000 i3 ; : : : :
; ; ; 06752 (2) 303951 (3)
7 fog {00000 2 008790 Mr A Protogerellis osugw 723206 1) 175220 (2) ek mek
' ; ' 9227 (1) 999356 (3)
8 T 100000 2
: : 064521 (2)
E 97 0.0000 s 009530 Nir 4 de B Clarkson eswuk ggi;i Eg g;ggg 8; mark mark
10 8 £ 0.0000 is S A
: ; : 10141 (1 038509 (3
= 7 _—— S 010255 M F limenes Coelho e e % 413785 533 120932 Eﬁ T
12 7l | 0.0000 s R ] o ()
: : : : S04397 (1) (111451(1) | 229988 (3)
Test lab4 Free Response Grades: o157 Miss MK Rendhawrs s SloTS Eﬂ) 20538 Egg saones Eg) 725648 (2)
; _ _ 123595 (3) 415339 (3)
 Comnt [Gradel () Grade2(S) {Guade3(5)  Weight oot LERECe el i Eg R gg T Tk
1= 13455 [39818 13455 i Se5244 (2
55 289 L3478 j2607t 3 032506 1 TP R Dupant ORI I e e
58 {1 0882 {43103 {10882 ‘3 d : B138a2 (7)
5 ; ; : ; 044525 (6
52 10,8846 136538 109231 2 | 034805 e MR Haenshy | eawmw 264768 512 1520869 (19) - (USSCE{CRNS e
R {p.ezs {37308 ‘o154 2 =] e AP
s | 0.6275 131373 (06471 5 |
f0s116 29767 BT s ,
= | \ 14 % 9P @ 2|
Statistics can be generated in real time from the database. Lastly, an interface allowing moderation is currently under
Question 4 (an MCQ) seems to have mislead the majority of development (this screen shot is of a prototype).
learners who have done the test so far (there are approximately
another 80 learners still to complete this test at this point in time). Thank you for browsing this document.
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